Homework 2.1

This week was a short week because one of our class days was canceled due to a
holiday, however we still learned a lot from the lecture we did have and the examples. We
learned how fluids act as a force on flat surfaces, angled surfaces, and curved surfaces. The
examples showed multiple ways and orientations of how fluids apply force to a surface or wall.
We also learned how to find the center point of the moment of force acting on those surfaces.
Another topic that was discussed this week was buoyancy. Part of this was learning the
equations related to buoyancy and how to manipulate the equations to find information on the
properties of the floating object and the fluid.
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